
� � � � �����������	�
���	�����	

� � � ����������	�
����
��
���

��������	�
����
���� ����	� � � � 
�����

��������
�
���

��������

����������� ������!!"�#���$%�&�$�&��

��
�'���'�����()$��#����

���$��
���
���*�'$���+$�'$������
��

����
$����������
$��$
$���

������������'$�&�%�����
����

����#���$�
��'$�&�)����$$���������$��������

������,��
��&��$-����

��

���������$-���.���
)#$��)��$�����$���

���������
�

��/�
����
����� �0� 1����� �����  ������!!"�!123�4��/�5�2� ���

6�2�!123�4�6�07819�����0�6/:��/�;2�8�</0��/88�=�
������70*�=����

13/�!16/��3�!��1�0������1��0;>02312/*�1�6��10�1�5319��1�/�1�6

=��2/�6�2���8�3�

������

�������� 	
���
��
��

�/88�=


����
����

� ���&���� � ��
)#�

������ � ��'



� � � � �����������	�
���	�����	

� � � ����������	�
����
��
���

��������	�
����
���� ����	� � � � ������

��������
�
���

� � � � ���������������
��

�����	��88�6�!/�0���0�13/����!�88�!/2/30����8/31��/��0�±�?����!!� ?�?
@"�;�8/00��2�/3=�0/���2/6�

� � � � �������
����������������

� � � � � � � � � � � � � � � � � � � � � � �



� � � � �����������	�
���	�����	

� � � ����������	�
����
��
���

��������	�
����
���� ����	� � � � ������

��������
�
���

�����
������
�

��� ����
��
��


 ������ � ��'� � A

� ������ � ��'� � �

� ���&���� � ��
)#�� � �

� ���&���� � ��
)#�� � �B


� ������ � ��'� � �

A ���&���� � ��
)#�� � �

C ������ � ��'� � C

� ������ � ��'� � �

D ������ � ��'� � 



? ���&���� � ��
)#�� � �



 ���&���� � ��
)#�� � �B



� ������ � ��'� � �


� ���&���� � ��
)#�� � 



� ������ � ��'� � �

������	�
��������E�

�13/���2/3�1889�����/�2/6�



� � � � �����������	�
���	�����	

� � � ����������	�
����
��
���

��������	�
����
���� ����	� � � � ������

��������
�
���

���

������ ����������������!"#$
�

�

�����
�
� ���
�������
�� ��
�

�:/315/���=/3���00�712�����/3���2 �� !'

�/1F�.�3=136��;33/�2��/3���2 �? !�

�:/315/�.�3=136��;33/�2��/3���2

�/312��5�
��/13�.3�!����� �/3���2


?

?�
�

!�

!���

�/:/30/�+�8215/��/3���2 � +

�7/312��5��/!7/312;3/��1�5/ ����� 2��G���

�2�315/��/!7/312;3/��1�5/ ����� 2��G���

��86/3��/!7/312;3/	�!14��A?�� ��3�!14��0/��12�
�A!!H
�
A����I�>/8�=�0/12��5�781�/�

�
�������
�%�
�����
��&������������������!"#$
�

�

�����
�
� �������
�� ���� ���� ��
� �
������	
�
��

�:/315/�
;!���;0�$�2/�0�29 $� 
C�? ��?? µ�6
$�J�?!�


�
A�;29

�/1F��!�00����'1:/8/�52� λ7 ��� �! $�J�?!�

�7/�2318�
��/�&18��'�62� ∆λ �� �! $�J�?!�

��!��1�2�'1:/8/�52� λ6 ��� �! $�J�?!�

��
 ��A $�J�?!�
.�3=136�+�8215/�1�9���2 +�

��? ��C
+

$�J�?!�

�/:/30/��;33/�2�1�9���2 $� 
?? µ� +�J�+


;!���;0�$�2/�0�29�#12����5��12�� $��! �	
 $�J
?!�

��2/	� 
;!���;0� ��2/�0�29� �0� !/10;3/6� =�2�� 1� 8�5�2� 0/�0�3� 1�6� ��82/3� ��!>��12���� 2�12

1773�4�!12/0�2�/��$�� ��!!�0����$�2/3�12���18/��/�
K��81�315/"�/9/�3/07��0/��;3:/�



� � � � �����������	�
���	�����	

� � � ����������	�
����
��
���

��������	�
����
���� ����	� � � � ������

��������
�
���

�'����
��
�������
�%�
�����
��&�������������������

���������	
���

��
�����
����
������
��	�
����
��


